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MODEL PAPER-2
fagg—ioTa
Subject-Mathematics
wus-
SECTION-I

agjfs g7 (Objective Questions) Full Marks : 50
quii® : 50
mlﬁwﬁsnawqﬁmuﬁa%wsﬁ.m.m.wﬁewé’ | W3 HEAT 1 9 50

g% B IS U 1 B BT 2|
In section-1, there are 50 objective type questions to be answered on OMR sheet. Questions

numbers 1 to 50 carry 1 marks each.

|.-mﬁ@n1ﬁmwa%mwﬁaﬂﬁﬁqﬁqw%ﬁﬁﬁﬁwaw
21 ud) ey fafEa HX |

In question nos. 1 to 50.each eugestions has four alternatives of which only one is correct.
You have to choose the correct alternatives. 50 x 1 =50

1. ﬁwﬁaﬁﬁﬂ’ﬁaﬂﬁmﬁﬁﬂm%?

Which of the following is an irrational number ?

1 1
@ 7 2 © T @ \ig

5 afY o, pEETE p =2 +x+1D LA &, dl é+-é=

1.1
If o, B are the zeros of the polynomial p(x) = x2+x+1 then 5 +g=

(a) -1 (b) 1 ©) 0 | @ 2
% ﬁwﬁ{fﬁﬁ-ﬁ%ﬁ?ﬂwwmmmﬁ%?

Which of the following have a non-terminating repeating decimal expansion ?
17 2 7 5
@ 3 (b) 75 © 3 4 12
T
4. i -

Eis
4

(a) TRAY HEAT (Rational number) (b) aqfAg &A1 (Irrational Number)
(c) WTpd WEAT (Natural Number) (d) 9 Qq @I A8 (none of these)

s waiow A 2322 T AR BT—
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10.

11.

12.

13.

14.

" 1591 .
The common difference of an AP 3333 is
—4 4 6 2
@) 3 ) 3 © 3 @ 3
gl g B g |
All equilateral triangels are ............
(a) GATTAA (congruent) (b) Y (similar)

(c) watmem A FHed =YY (congruent and similar both)

(d) ERL | Elﬁg 981 (none of these)

frell wwaTg Prge ABCH Af& ADIBC al

In an equilateral triangle ABC if ADLBC, then—

(a) 3AB2 = 2AD? (b) 2AB2=3AD? (c) 4AB2= 3AD? (d) 3AB?=4AD?

afs GiERoT 2+ Ax+k=0D A areafis sy Faa &,

If the equation x2 + 4x #k = 0 has real and distinct roots then.

(a) k>4 (b) k<4 () k=4 (@) k<4

afr ApalRAQ @ 0dmd fdl 0 W 2} wgef Y 39 voR @ fo £POQ=110°d}

ZPAQ = viiveense
If AP and AQ are two tangents to'a circle with centre O so that ZPOQ =110° then ZPAQ = ...

(a) 75° (b) 65° (c) 70° (d) 45°

v frg W @ fog afeT A& kx—y=2,6x-2y =31 sfgd &a 8-
The value of k for which the system of equations kx —y = 2, 6x — 2y = 3 has a unigue solution.
(a) k=0 b k=0 (c) k=3 (@ k=3

Ife sin9=% ¥ cosd = ....

If sin9=% then cos@ = ...

@ I NoE- © 3 @ 3

fyar TgTE 215 @ LUF -

The zeros of quadratic polynomial x2— 15 is—

(a) 15,—15 ) —J15,+15  (© 0,5 (@ 25,-5
qﬁaﬁa’tﬁﬁa’fﬂqﬁﬁamﬁwmaﬁ ............ $ead & |
A line intersecting a circle in two points is called @ ...

(2) Tl ¥ (tangent) (b) St (chord)

(©) fa=ar (radivs) (d) Eﬂﬁ ¥ BIs A8l (none of these)

faga (4,33 (1.-)® dra o 0 8-

The distance between the points (4, 3)and (1,-1) 15—

@)

il
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(@) V5 ¥DIZ (units) (b) 5 FDIR (units)
(c) Ji1 S®13 (units) (d) 11 SHIZ (units)

15. e @ B 7 Ao AR frfe S=d 10 V0. 9 Sraga Ug o a3 S
A% BRI

The curved surface area of a right circular cone whose radius of the base is 7 cm and slant height is 10

cm—
(a) 110 9.2 (cm?) (b) 210 FH.2 (cm?)
(c) 220 9.2 (cm?) (d) 200 9.2 (cm?)

16. 2,3,1,5,2, 6 &1 AEA® 28—

The median of 2, 3, 1, 5, 2, 6 is

(a) 1.5 (b) 2.5 ©) 2 ) 3
17. rBroumare FEMe &1 Agad -

The volue of a hemisphere whose radius is r—
(@) %nrzh () %mﬁ © %mj @ h
18. Fr=fafea § @ =4 ) oo & wiisar 98 81 wadi-

Which of the following cannot'be the probability of an event—
@ 3 (b) 0.6 © -L5 (d) 20%

19. famg @4, -7 fPw urg A Rer@ 8 7
The point (4, —7) lies in which quadrant ?
(a) 9H TS (First quadrant) (b) f&fr Mg (Second quadrant)
(c) GfTa WIS (Third quadrant) (d) =qel 9rE (Fourth quadrant)
20. GiaR A 10,7, 4, ... BT 20 q 4G EIT—
The 20th term of the A.P. 10, 7, 4, ....... is—
(a) 97 (b) 77 (c) 67 (dy 47
21. T wHed Brgel & ARAHIE B1 Iu 4:98, Al 31 B @ A% 1 I
hr—
Medians of two similar triangles are in the ratio 4 : 3 then area of these triangles are in the ratio—
(a)2:3 (b) 81:16 {c) 16:25 (d) 16:81
22, AR e +bx+c=0% Hel WAA B, dl c=......
If ax? + bx + ¢ = 0 has equal roots then c = ......

2 2 -
@ L ® & © 5 @ =
23. ﬁ$wﬁmmﬁmﬁﬂmﬁﬁwuﬁ.sﬁ?ﬁmﬂaﬂm%°%—

The are of the sector of a circle whose radius is 14 cm and the angle of sector is 90°—

3
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|
!
|

27.

28.

29.

30.

31.

32.

33.

(a) 7n A2 (cm?) (b 497 WHL2 (cm?)
) 14 n A¥L2 (cm?) (@) 196 n ¥HL2 (cm?)

_ Gin2A = 2sinA OF GG YAl 2, Seie A 9EY T

sin2A = 2sinA is true when A is equal to—

(a) 30° (b) 45° (c) 60° (d) 0°
! uﬁﬁwﬁﬁwwcﬁuﬁ:bﬁgﬁmﬁmmmﬁwmuﬁmﬁm%%
AD _AE
DB EC
. S : AD _AE
In any triangle ABC if DE intersect the sides AB and AC such that 75 =%~ then—
(a) AB Il AC (b) DE i BC _
(c) DE=BC (d) 79 @ BIg T (none of these)

fRur 9gUE 32 -3 +1D el B ATHA T

The sum of the roots of quadratic polynomial 3x* - 3x + 1 is—

@ 1 o)1 © 3 @ 3

sin? 29° + sin? 61° B A BT

The value of sin®29° + sin>61° is—

(@) 1 (b) 2sin?29° (c) 2¢cos?61° (d 0

g (7,4 3R (-3,2) @ PR ardl X $1 Aeafarg B—

The mid point of the line joining the points (-7, 4) and (-3, 2)—

@ (2,3 (b) (-5,3) © (3.-5) (@) 3,2)

afe AABC~ ADEF, ZA=57°, /ZE=63°Td £LC=?

If AABC~ A DEF, ZA =57°, ZE=63° then £C =1

(a) 50° (b) 70° (c) 60° (@) 90°

(1 +tan A + sec A) (1 + cot A — cosec A) FIGX T—

(1 +tan A + sec A) (1 + cot A —cosec A) is equal to—

(@1 (b) 2 (QRY @ -1

ﬁﬂﬁﬁﬁﬁy-ﬁﬂﬁ{ﬁﬂﬁﬁmmﬁﬁ~

The distance of a point from the y-axis is called—

(a) y- FIdei& (y- coordinate) by x-fad¥i® (x coordinate)

(c) y-SIET (y- axis) (d) BIfE (ordinate)

g-—ma(—m —4) 31X (1, —2) B Ararare Yaras ) y- @ g s A qied
, 498 ©—

The line segment joining points (=3, —4) and (1, -2) is divided by y-axis in the ratio—

(a) 1:4 b)4:1 ) 3:1 (d 1:3
tan A BT GGHA B—
The reciprocal of tan A is—
(a) sinA (b)cos A {c) cotA (d) cosec A
Prefyfaa 4 A Bt D= ughy @ a9y & 27

@
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37.

38.

39.

40.

41.

42.

43.

Which of the following is not a measure of central tendency 7

(a) WTEH (Mean) (b) 9EAE (Mode) (¢) IO ®T (Median) (d) IRER (Range)
mﬂﬂaﬁﬁwaﬁ.méﬂzﬁ.aﬁ%ﬁaﬁﬁwwsﬁ.
ﬁaﬁmﬁmwélaﬁg$waﬁﬁm€—

A cylinder with base radius of 8 cm and height of 2 cm. is melted to form a cone of height 6 cm. The
radius of the base of cone is—

@) 5. (cm) ®) 49 (em) (© 68 (cm) (@) 8 JH. (cm)

12 cosec? A — 12cot? A IRTEY 28—

12 cosec A — 12cot? A is equal to—

(a) 1 (b) 0 (c) 9 (@ 12
wa fifYad gen 31 mfiwar S1d -

The probability of a sure event is—

(a) 1 (b) -1 (c) 2 (d 0

uﬁwmﬂﬁwﬁzooﬁ.gﬁuﬂﬁﬁwﬁmﬁwaﬁwwé,ﬂ
ANTR P SAg B

If the angle of elevation of 60° from a point which is at the distance 200 m from the foot of the tower
then the height of tower is—

(@) 10043 e () (b) 20037 m) (@) 503 Al () (&) %ﬁ- (m)
gfe ¢ fa=g P 0Bz @ e g TR PA, PB e Y@ URER 80° ® IV WX

2 a1 £POA &R B
If tangents PA and PB from a point Ptoa circle with centre O are inclined to each other at angle of

80°, then ZPOA is equal to—

(2) 60° (b) 70° () 80° (d) 50°
tan 9°. tan 81°. tan 60° &XTER B—

tan 9°. tan 81°. tan 60° is equal to—

1 1 1
(@) 3 | ®) 5 © 3 @ 7
Prefafag ¥ o1 faoma ague 2, Ree e 5 3T —3 8-
Which of the following is a quadratic polynomial whose zeros are 5:and -3, —
(a) ¥ —2x+15 (b) 22— 2x-15
(©) #*+2x—15 (@ 599 @ P T (none of these)
aﬁwaﬁﬁmaﬁwﬁwaﬁﬁwﬁmﬁﬁuﬁmmﬁwmw
HI07 INTEY B—
(If the length of the chord of a circle is equal to radius then angle subtended at the centre by chord is}
(a) 60° (b) 120° (c) 90° (d) 130°
faETT 9EUE b2 +ax+c =0 @ fARIER BT
The discriminant of quadratic equation bx? + ax + ¢ =0 is—
(a) b2 - 4ac (b) ¢®—4ac

)

Y
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(c) a? —4bc (d) 379 | Hig T (none of these )
4. AR A 5,8, 11, 14... B YAH 24 UG BT AT 8—

The sum of first 24 terms of the A.P. 5, 8, 11, 14, ...

(a) 946 (b) 948 {c) 940 (d) 950
45, Ay 3A=90°dl sec A BT AT B—

If 3 A = 90° then the value of sec A is—

1 2
@ 32 ® 5 © 3 @ 5

46. < HH 9 WER &1 qEad GHads e

The HCF of two consecutive even number is—

(a) 2 (b 1 (c) 3 @5
47. sind8° - cos42® BT A BIIT—

The value of sin48° — cos 42° is—

(@) 1 ()0 © 2 @ 3
48. ufe AABC® ¥NST @ Frm® A, 3),B 4,5 T C(7,2) 8, @ AABCHT SA%d EHT—
IfA(2, 3), B (4, 5) and C(7;2) are the vertices of AABC then the area of AABC is—
(2) s5qf sﬂﬂg (square units) (b) 79 E‘dﬂﬁ (square units)
(©) 6 T FHIZ (squarc units) (d) 497 FHTE (square units)
49, cosB xtanB=.........
(a) sinf (b) cos?0 (c) sin0 (d) cos@
50. ﬁﬁQﬁwWﬁmWﬂM%mmmﬁm—

If two circle touches internally then the number of common tangents will be—

(a) 2 () 1 © 3 (d) AR (infinity)
Qus-li
SECTION -li
KiEy Tﬂgﬁﬂ U991 (Non-Objective Questions) Full Marks : 50
oy, 9adg wea (Short Answer Type Questions) qui® : 50

Prder - wed GET 1 @ 22 96 agSady U € | $ & Bad 15 ¥E BT IR
2 | 39 P @ e v @ Ry 2 ofF fFEilRa 2 |

Instructions : Question nos. 1 to 22 are short answer type. Answer any fifteen questions out
of the following. Every questions carries 2 marks. 15x2=30

1. 180} SISy UFES @ UEPA & B9 A o BIRY |

Express the number 180 as a product of its prime factors.
2. EUE 6x2-3-Tx B YIS FIA DI |
Find the zeros of polynomial 6x% -3 - 7x.
3, wAiGT ALY 3.8, 13 ... 253 BT ai@ & 20 qf Ug W@ B |

6

vl
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9.

10.

11.

12.

13.

14,

Find the 20t term from the last term of the AP 3,8 13 253.
yamq?argﬁr—gsrmaﬁmmi 5, 1) 3R 4,29 TIGRA B |
Find the point on the y -axis which is equidistant from (5, 1) and (4, 2.

Rig e P 3+/5 TP aqfe g 2 |

Prove that 3++/5 is an irrational number.

e LAkl 3x2-2x+%=0?5|' AR sa i |

Find the discriminant of the equation 3x° -—2x+-1§=0

af® HCF (18, 504) = 18 @ LCM (18, 504) STE DI |
(If HCF (18, 504) = 18 then find LCM (18, 504)

; 31
ﬁmﬁﬁwqmmmﬁﬁsﬁmwnﬁhm Texas 1 <Rred
quR Wi A1 i amacd 2 |

31
Without actually performing the long division. State whether the rational number 7gx55 Will have a

terminating decimal expansion or non-termipating decimal expansion.

o fag @ Prdwis s BINT, S fgal (6,3) 3 (4, 5) @ PEr T YEEs
& 3.2 anpua ¥ famtoa B 2 |

Find the co-ordinate of the point which divides the line segment joining (6, 3) and (-4, 5) in the ratio
Fad
@iﬁﬂwmcﬁWBcwwﬁﬁnwmﬁuﬁéﬁzwummﬁ l
zamsy f& cA?=CB.CD.

D is a point on the side BC of triangle ABC such that ZADC = /BAC show that CA% = CB. CD.

afe cotA=tan B A R PY & A+B=90°1
If cot A = tan B then prove that A + B = 90°.

s aarg B ABC @ ¥l 222 | gud eera-gma P |
The side of equilateral triangle ABC is 2a. Find the perpendicular distance from vertex.
pmmaﬁaﬁﬁqaﬁﬁﬁmﬁﬂmml.ﬁ I

Find the value of p if the arithemetic mean of the following data is 14.

510 [ B [ 20 %]
7 17 s 41 5

P
WﬁﬁAﬁwqﬁwwﬂmaﬁm 12 Q1. TN A B Bw @ T 13 I
é.a’tqﬂaﬁﬁaﬂwaﬁﬁm I

From a point A the length of tangent to a circle is 12 cm and distance of A from centre is 13 cm. Find

the radius of the circle.

0]

o
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15, afe Sin(A—B)=-]§.ODS(A+B)=%, SeT 0°<A+B<90°,A>B, A AR BT BT |

If sin(A—B)=1§,cos(A+B)-—-% _where 0° <A+ B <90°, A> B find A and B.

16. gfrena ffs ¥ f= W afiexor 3 1 & DI cx+y=143R x-y=4
Solve the following pair of linear equations by substitution method : x+ y =14 andx -y =4

17. wmaﬂtﬁaﬁwwzﬁwaﬁaﬂuﬁmmaﬁﬁq [
Find the probability of getting a number greater than digit 2 in the throw of a dice.

18. frafafEa dev o1 aga® wa MY |

Find the mode of the following distribution

g — AT
ol shitecoal 0-10[10-20|20-30(30-40|40-10|50-60

TRART
: FreqHEncy 5 14 8 22 20 12

19. 4cot?45° + cos245° — 25in30° BT WM FId BT |
Find the value of 4c0t245° + cos?45° — 2sin30°
20. aifad #RT 5 A(LS, 3), B(6,-2) 3R C (3, 49 B |
Prove that the points A (-1.5,3), B (6, -2) and C (-3, 4) are collinear.
s 21. 2oaa¥$wwﬁ4mwélwwﬁﬁwmmwﬁmmm
3 | gud @ wiEar & 6 uE ao9 TR B 7

A ot of 20 bulbs contain 4 defective ones. one bulb is drawn at random, what is the probability that
this bulb is defective.

22. mm%ﬁﬂﬁwﬁﬁﬂﬁma}ﬁﬁwﬁﬂ#mﬂmﬁmsﬁh
g1
Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

o a9 ued  (Long Answer Types Question)

ﬁ#w:mmzsﬁzeaﬂﬁﬁﬂmﬁlﬁﬁ%a}mwma%msﬁ
frenfRa 21 '

Instruction : Question nos. 23 to 26 are long answer type. Each question carry 5 marks. 4x5=20

23. U@ G9EIg S BT AABA 173205 om? & | 59 B @ T fid S 375 A
ﬁgﬁaﬂgma%aﬂa%waﬁﬁwquﬂﬁmmé | st & 99
a7 BT Saed I R o gel | T8 B 2 ? (=314 R0

The area of an equilateral triangle is 17320.5 cm2. With each vertex of the triangle as centre, a circle
is described with radius equal to half the length of the side of the triangle. Find the area of the triangle

not included in the circles. (use 7t =3.14

3rerdr (Or)
1 @mﬂmﬁmwm$waﬂ%ﬁﬂrwwaﬁﬁﬂﬁa§,aﬂiﬁaél

®

Qg

&
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26.

39 ¥@ B A8 2cm# IR ITER &1 A 4om @ | §9 el @1 g faiRa
X | aft e @9 g o9 39 Raal & o 8L @ 9@ ek el @
I &1 A} FA|d B ? (n=23.14 Y

A solid toy is in the form of a hemisphere surmounted by a right circular cone. The height of the cone
is 2 cm and the diameter of the base is 4 cm. Determine the volume of the toy. If a right circular

cylinder circumscribes the toy. Find the difference of the volumes of the cylinder and the toy. (use =
3.14).

sinB-2sin’ 0
Hiapial (ﬁ'l% m) 2ca:3z‘:139—c«:359=mnB
g4t (Or)
0me qa9 @ Ry @ U@ dad oraR @ RFEr o1 3194 ST 60° 8 IR g9
I BT AT 1T 45° 2 | STa¥ B SA13 91 DY ?
From the top of a 10 m high building the angle of elevation of the top of a cable tower is 60° and the
angle of depression of its foot is 45°. Determine the height of the tower.

Solve Graphically (T®Ia faftr @ g« #1fv)
x+y=3
-2y =4
4T (Or)

Q) weral 1 AT 16 | ST A B AT 5 T | wEA T Bre?

The sum of two numbers is 16. The sum of their reciprocals is % . Find the numbers .

firg oY ¥ afe v Prs 4 e gon & War g <) gerral @t ufresfed s
&¢ Y@ dih oma at 98 9= & qerel @ e @ sgua § famfa e @ ?

Prove that if a line is drawn parallel to one side of a triangle intersecting the other two sides, then it
divides the two sides in the same ratio.

324t (Or)
4cm, 5ecm @R 6om HOMSN 9Tl U Frqst I w0 P0G IR Y 596 4T @

a1 Pl @ <o AT, Rt gend Ry gy e @1 4ra germel 1 2 T
il

Construct a triangle of sides 4cm, 5 cm and 6 cm and then a triangle similar to it whose sides are % of

the corresponding sides of the first triangle.

®

Oy~
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SIXHT AT
(ANSWER)
wus-1

Section-1
@ 3@ 4[5 ®][6®| 7@ 80 | %© |10 (©)
12. () [13. ®) | 14. (&) [15. © [16. (0) | 17. © | 18.(c) | 19. (@) }20. ()
21, |22.(0) |23. (o) [24. (@) | 25. (®) [26. (@) | 27 (@) | 28- () | 25 ©) | 30. (b)
3L.0) |32. ) [33. () |34 (@) [35. @ [36. (@) | 37. @] 38.0) | 39 @ | 40. (©)
a1.(b) | 42. (@) |43. (©) | 44. ®) [45. (D [46. (@) | 47. (B)| 48. () | 49. (@ | 50. (b)

gaxirdl (ANSWER)
wus-l
Section-ll

ErE:

. 180 BT AHYIE FHTSA UGS, =2x2x3x3 x5 Ans.
2. W foraT faar Ay 9g9% A =62 - Tx-38 |
al ﬂx)=6x2—7x—3
= 6x* - 9x+2x-3
=3x(2x-3)+1(2x-3)
=(2x-3)(3x+1)
fx)=0 =2x-3)Bx+1)=0
=2x-3=074T 3x+1=0
=2x =3I, 3x=-1
=2x=37T, 3x=-1

3 1
=>x= 2?11, x =—3

< UTR 62—Tx—3 UG 5 A -3 T 1 Ans.
3. qaf q=3,d=8-3=5,1=2530AUT n=20

.. diftpt ug | ndl UK = (I-(n-1)xd} ﬁggﬁ?ﬁg@? &t
- gifom g€ & 20 91 9€ = {253 -(20-1)x5) mﬁwa’mmﬂ;msﬂz
= {253-19x5} AfFae Tden v 07 3R B 13T
= 253-95
= 158 ( BiharboardQuestionpaper.com p
R

(10)

Vil
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< YHR o @ i 20a1 U =158 Ans.
4. A o fs famg A Pidw® . )yaur B P 4,2)2 j s o fd y ot
anfie farg P& Frdwi® 0,0 |

Gl PA =PB
pPA2 =PB? PO,y

—
= (0-5)2+(y-1)2=(0_4)2+(y-2)2
= 25+ (2 —2y+1) =16+ 0% ~4y+4)
= 26+y2—-2y—y*+4y-20=0
= 2y +6 =0
=-3
gy fa=g =(0,-3) Ans.

5. A fon & 3+45 s uRAG wEA 8,
a}g+ﬁ=§qﬁpmqﬂqgﬂmaqﬁp,qﬁaﬁéwﬁfﬁgﬂﬂﬁaqﬁ% |

= Jg =§-’3

4fs paik qpte ¥, (B3 uR e 2

M:ngﬁﬁﬂmél

e (5 TP ORI e 2

e gAY Wgan Taa ¢ |

ard: 3++5 wqﬁr’mﬁmqﬁ% I

gufag 3+45 e auRdw wen € ) wifaa g3 |

6. al+bx+c=0a W fu MY WHH ) goEl & W Jqat a=3,b=-2, ¢=
fafyeay (discriminant) =b? - 4ac

Lad | =

=(-2)2 -4 x 3x-%

=4-4
=0 Ans
7 & WY R fb, W W x T W = WG BT LT
= 18 x ol . =18 x 504
18 x 504

pamn ol. e = 18

ardfise . 9. =504 Ans.

(63))

g
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8 31 _ 31
i 16X25 ~ 2X2x2X2x5x%5

31
= S(’f‘xs2

TEl 8X 2"5" D ©Y DI & |
¥a: arfie T |19 2 | Ans.
9. w1 foar & fay 1Y fag A3k B &1 FAdwie s (5,3) @RI (4,52 |
TET (x; =6,y, = 3) q=0T ® ° ®
(==4y,=52 | A(6,3) P (x, ) B (4, 5)
T € m=3TA n=2
a1 fern & apfie fasg @ Adens P,y 2 |

_(mxy+nx))  (my,+ny)
Rwrer 5 Al =T men 0T (mn)
[Bx(-4)+2x6]  (3x5+2x3
= =TT @R Y G

~12412  15+6
5

= x=0, y=—7

am: e fivg & Frdaie = (02 ans.

10. f&am 31 @ % AABC® Hoim BCWR D9Iig =g & sk ZADB = sBACT) R 2
CA2=(CB.CD
AABC 3R AADCH A
£BAC = ZADC (R rar )
£C = £C (S9afya)
I PIV--FHIVT FTGIAT |
AABC ~ AADC B 5 C
. AC_BC
T Cb AC
= ACZ=BC.CD
= CA?=CB.CD urfa« gam |
11. . cotA=tanB
= tan (90° - A) = tan B - [cot O=tan (90°—6)]
= 90°-A=B
= A+ B =90° Proved.

(12)

e
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12. 91 forar % AABC wweTg s @ s AB=BC=CA=2a 5
A¥ AD,BC W @4 ST |
d RHS €aiTHAaT ¥§ AABD = AADC

.. BD=DC=a 2a 2a
YHGIOT AABD ®
AB2=BD? + AD? B s _
= (2a)=(a)? + AD? el D 4
= AD?=44%-4?=34°
= AD-= \Ea
ar: Bragwr #Y spfise e = 3 a Ans.
13. x; £ x; X f;
5 7 35
10 P 10p
15 8 120
20 4 80
25 5 125
Y. fi=24+p | ¥ fix=360+10p
L Zfi-‘i
X = Zﬁ
360+10p -
= 14=W(-,-W(x)=14)
— 14x(24+p)=360+10p
= 336 +14p =360+ 10p
= 14p — 10p = 360 — 336
- - 24 _
p = 4 =
; p = 6 Ans.
14. EER _ 0
OA =13 cm ” 13 cm
AP =12 cm
Z0OPA =90° P 12cm
AOPA
TIRATIRYE 3T 9,
0AZ = OP2 + PA?
= (13)? =(OP)2 + (13)2
= (OP)2 =(13)2-(12)2
= OP? =169 - 144 =25
= OP = 25=5

a3)
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15. sin(A—B):% = sin (A ~B)= sin 30° {'.'sin30° =%]
= (A-B)=30°

cos(A+ B)=% = cos (A + B) = cos 60°

= A+B=60°

gl () @ (i) B S W

24 =90°
. G) ¥ A=45 @ W,

B =60° —45° =15°
B9 UBR, A=45°TA1 B= 15° Ans.

16.x+y=14
i-y=4
. ()Y x=4 +y
x=d+ydl A9 @i () H @ W,

v 4+y+y=14
= 4+2y=14
= 2y=14-4=10
10
i)y..—-? e
y @1 A . (i) ¥ YE W
s x=4+5=9
T & x=9 AT y=5 Ans.
17. w1 forar & s =gfl ¥Ha gRom
E=3i® 2 ® SuU¥ A B =gl
n(S) =6, n(E)=4

nE)_4_2
P(E) =35y =6 3 Ans.

1s.a§a$aﬂ3046%ﬂi%sﬂaﬂaﬁmwmfﬁ$% [

My =l

o

el 1=30,f) =22,f,=8,/,=20
i =10
22-8 &
qgAD =30+ 527-8-20

14
=30+ 1 X10

35
=30+ i

14

v

...........................

...........................

...........................

----------------------------

.............................
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= 30+8.75=38.75

IHdise sgaA® = 38.75 Ans.
19. 4cot?45° + cos?45° — 25in30° = 4(cot45°)2 + (cos45°)% — 2 sin 30°

1 1

2
= 4x(1)2+(ﬁ] —2%3

1
= 4+l

8+1-2
2

20. fag wy = fasg Wl 8 |
af T T qrel et &1 &3%d 0 81 |
fay ¢ g A(-1.5,3), B(6,-2) 3R C(3,4 ¥ T a1 s ABC BT &A%

BT x;=— 15,9, =3,%,=6,y,=~2 T x3=-3,y;=4

il

& %[xl (33 =¥3)+ 2 (M= y)+x3 (v — )l
[(-1.5){(2)=4)+6(4—-3)+(-3)(3—(-2)]

[((-1.5)%X(=6) +6.X1 + (-3)x3]

e 1512
= 219+6-15]=3{15-15]=0

AABC & 83%d =0
ﬁﬁﬁqwﬁ?@mgl
21. 94 foar f6 s =9+ Wwa gRum
E = 9cd G TP &Y "eAr
n(S) = 20, n(E) = 4

nE) _ 4 _1
P(E) = ;("S')'—m—sAns.

ZZ.W%OQ?[WW%WABWW'EI&HAWBWWWPQWRS

i
4 wul Yar @ wef farg @ o areh Ao deag e 2
3 Q
900
Ce
R B 3
(15)
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ad: OA LPQ ©®il OB LRS
.. Z/QAB = 90° @IT £RBO =90°
9 YBKR THIaY BV, ZQAB = ZRBO=90°
- PQIRS
Fd: ¥@TE PQ @ RS WHIAIGR 2 | arfd gam |
23. 91 forr f wHaIg s & 9@AT ol acm @ |

g e BT A = [‘E"z}mz

-@.ﬂz = 17320.5

, _ 173205x4

SN

17320.5%4
173205
= 40000

a =, /40000

a = 200cm

-, YHATE AABC @ U@ HUll =200cm

y

(-+</3=1.73205)

U444

3t PBrear () = %:wo cm
afise AW = (AABC @1 &3%a) - 3 x (Freadsl &1 AEH)
= (AABC ®T &3%d) -3 x (gﬁaeo—oxnrz)

7. AABC &T &a%d = 71320.5 cm?
0 =60° r=100cm,n=3.14

[17320.5-3 x (%x&l.ﬂ 100 X 100)} il

(17320.5 — 157 x 100) cm?
(17320.5 — 15700) cm?
1620.5 cm?

S anfise BITIReT |1 &1 §9%d = 1620.5 cm?
341 (Or)
WWBPC@W%WABC@TﬁﬁiﬁWWWW!@%le
Tig B g wER @ |

faan

%x4cm

= 2cm

(6)
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n=23.14,r

2 3. 1_2
3m‘+31trh

2
-";—(2r+h)

2em, h=2cm

3.14 x(2)*
3

2 ><2+2)] em?

3.14x 4
3

3.14 x 8 cm3 =25.12 cm?

X6 cm3

arq e forar f% fiv ¢ ovw & wRwa d@egehd I3 EFGH? |
59 dagd 9o @ IER B Brear =HP=BO=2cm

qAT S A =A0O+OP=(2+2)cm=4cm

.. dqgeig 49 PG =nrh

3 aifya argdaA

=3.14 x (2)? x 4 cm?
=16 x 3.14 cm?
=50.24 cm?

15 gl Ao o1 srmA—fadt a1 S

= 5024 cm? - 25.12 cm?
=25.12¢cm?

39 UHKR <4l Aga &l 3R =25.12 em’ 2 lAns.

24.

L.HS.

I

sin6—2sin>9
2(:033 8—cos0O

sin6(1—2sin’ 6)
cos8(2cos” 6-1)

[1-2(1-cos’ )]

tan 8 X 3
(2cos” 0-1)

[--sin28=1- cos?0]
2
tme:‘\:(Zcosz 0-1)
(2cos” 6-1)
tan 8 = R.H.S. Proved.
AT (Or)

H< forar w9 @) &98 =CD=10cm
2fa? & HEE =AB=xm
7q= a1 efax @ dig @ g8 =BD=ym

a7

Ve
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- EB=CD= 10m

BD=CE=ym
AACEW,
o _ AE
tan 60° = CE A ?r
AB-EB
\E T K
CE :
" RNas ym =
X— xm
= B == 10m 10m
= x-10 = 3y (1)
fiby, ABCD ¥, D B *
o _ CD
tan45° = BD
10
== 1 = y
¥y = 10m
. (DA y ST 99 & R,
w x=10= 3 x10
= x= 1043 +10

= x= 103+)m

- I AR F HATE = 10(V3+1)m Ans.
25.x+y=37UT 3x-2y=4

'\‘I”ﬂ'tlﬂ“Tx-by:S@

= y=3-x (1)

Al (1) B A1 |t

x101-113(2
/(3] 4]0]1

9 FHIHROT 35-2y=4
= 2y=3x -4 Xe

3x-4
2

¥l (2) @1 799 |efl

x| 0[2]1-2] -1
=2]1[-5]-3.5

T I sl & FeA—fag 2, DT |
Hd: gl x=2 ‘]j,
y=1Ans,

= ys -(2)

(18)
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26.

Y41 (Or)
#= foar 5 edh W «2 at gad wEn 16-x el |

11
9 xTUT 16—x D HobH FAW: g5 © |

1 1 1
YR, tey = )
16—x+x 1
= x6-x) T 3
=5 16x3 = x(16-x)
= 48 = 16x-x*
= X2—16x+48 = 0
=  x2-12x-4x+48 = 0
= x(x—12)-4x-12) = 0
=3 (x-12)(x-4) = 0
= x—-12=09T x-4=0
= x=1291 x=4
x = 12,4

W x =12, e HEAT = 12, T WET = 16-12=4
4 x=4, UEell GEAT =4, T G&AT = 16-4=12
39 UeN I gEd 128 4F |

ar R fb ABCU® A € | T BC® WHiaR @1 DE W e | &1 DE, AB 3X AC®I

wue: fasg DR EWR ufoeds el 21

Rig BT AD_AE
g f DB~ EC

g — DY DMTT E § EN ¢id H99: ACTIT ABUY ST | B & EW =1 C&I D

| e |
YHVI—AADE &1 856 =%x3lTETI'\’ x ST
=%><AD><EN
ﬁ?ﬁDBEWﬂW:%xDBxEN
1 ADXEN
AMDE®! 83%d 27777 _AD {
ADBE® &t = %xDBxEN DB ... (1)
fBY, AADE & &3A%d =%xAExDM

(19)
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1

dUT ADEC &T &94%d = FXECx DM
1
AADE % 8w g ReERDM _AE
ADEC@ gfhet %XECXDM E€C e @
.- DEIBC
. ADBE ®T §3%d = ADEC 8F%d, daifd <41 Ao ta € ImEr 3ilv Ay Yars
CK K &
AADE &1 83%d AADE &1 875
3"‘"3" ADBE® 8=awe  — ADEC T &%d
(HaAT ()
AD AE
DB = Ec TG g |
344t (Or)
YT & EROT:

() & T3 ORI ¥ AABC ) = o 8 | Rrad Be=69Wl. AB=49W. AR AC
=59, 2 | BX (% Y@Es Hiar 9afeé ZCBX U YA &7 2 |
(i) BXWR diF dvreY @s Prer |
BB, =B;B,=B,;B;
(iii) B,C® framar R B, ¥ B,C'IIB,C ®! diar &l ¥81¢ MGHBCH C W faadt & )
(v) fag C¥ cA'ICAETET Wit 981§ ¢ BA® A'U¥ fierdt 21

a9 A ABC' afise Prger a1 Rrwah 9end A ABC® ol @ 2 R ?

fagre 1€® a1v sie qeret siifthfdas
FAY AU, ATss U, 3ide-dl,

UT&ehd, siled, Al eee, de-311 3iie

AfeR e udten usst u= 3nfe & f3e...
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